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Coding system:

Property:     Value:

                       1         2        3        4

l1  [m]             0,4    0,5     0,6      0,8

l2  [m]             1,2    1,4     1,6      1,8

P1 [kN]           2,2    2,5     1,2      1,5

P2 [kN]           3,2    2,8     2,4      3,8

q [kN/m]         2,2    2,5     1,8      3,2

M [kNm]         12      8        10       6

R = 220 MPa    E=2 x 10 MPa

Example code:   B123412 - Model [B] l1=0,4 l2=1,4 P1=1,2 P2=3,8 q=2,2 M=8

-----------------------------------------------------------------

List to do:

1. Support reaction

2. Diagrams of SF and BM

3. Dimension of beam cross-secton (a & b)

4. Moment equation

5. Slope equation

6. Deflection equation

7. Diagram of deflection

8. Slope and deflection of point G
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